HEHR: 3Amp — 25Amp

HEEBE: 125/250Vac, 50Vdc, 50-60Hz
WIFFA . 1,000AmpX125Vac  20Amp X 205Vac
YT EMIR : 1,500Vac/5 50
BAFFXBREE: 105857

RIRBE: NTF0.25V

EISRHE: 60R)MA

Y EEBE . K F500Vde X 100M @

LI TIRE: 25°C THEAT100%MiK
HEAEGMIR: 125Vac X 150 % BRI HBIF5003%
EE: 101:100g. 103:12.69. 71:8.99

EARIEEERD+25°C

HERR SLEUERFA ERR HEVEE
A Q A Q

3.0 0.083 10.0 0.025
4.0 0.062 12.0 0.021
5.0 0.050 15.0 0.017
6.0 0.042 16.0 0.016
70 0.038 20.0 0.012
8.0 0.031
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Trip Curves
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Time In Seconds
R

HEREETHARERER
RE

BE |°F +14 |+32|+50|+68| +77 +86 |+104|+122 +140

°C|-10| +0|+10(+20(+25|+30| +40 | +50 | +60

=24 A 70 | .75 | .82 | .90 (1.00 {1.10 | 1.25 | 1.61 | 2.15

5~20A |.77 | 85 | .90 | .95 (1.00 {1.05 | 1.15 | 1.25 | 1.40
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